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QUESTION 1

Which of the following modules allows a programmer to specify and spawn new processes, connect to their input and
output pipes, and retrieve returned data?

A. pip

B. urllib2

C. subprocess
D. prochandle

Correct Answer: C

QUESTION 2

Which of the following is the final output when program.py is executed with a Python Interpreter?

= - -

B.5
C.10
D. SyntaxError: invalid syntax

Correct Answer: C

QUESTION 3

Which command will search for python modules that will have the ability to parse pcap files?
A. >>> |ocate(pcap)

B. pip search pcap

C. pip pcap

D. >>>pfind(pcap)

Correct Answer: B
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QUESTION 4

How many bytes are used to store a 16 bit Unicode character?
A.3

B. 4

C.2

D.1

Correct Answer: C

QUESTION 5

What is the output when the following commands are typed in Python interactive mode?

i
W
8}

|I

A. 15

B. NameError: name \\'c\\' is not defined

C.ac

D. TypeError: cannot concatenate \\'str\\' and \\'int\\' objects

Correct Answer: C
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